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MOl 2 | MEtEE oA 23R 235-11(2%5) | A% 50,000 60,000
oMH =L MetY T oA ABE 231(ASE) ATE 50,000 60,000
HRE 2 | d2tdE oAl A BE2E 22-1(%43) B 45,000 80,000
£32 == MEtEE O4=Al A|H3Z 35(E5) sts 50,000 60,000
HEod oE Matd = oj=Al A|E3Z 35-14(25) sts 50,000 70,000
WASH 2E Mete s oAl A|H32 35-6(33) sts 50,000 60,000
NS [=R=! Metd = oA A|A3Z 35-6(8H5) Bl 50,000 60,000
g =Rt o MEte e oA A|HE2Z 33(8S) sts 50,000 60,000
OHS}E =1 Hetd = oAl A|ES3Z2 12-15(5) sts 50,000 60,000
k=R e == HEtdE oAl A|HS2Z 16(23) stE 45,000 70,000
oo 24 Metde oAl A|8322 36(3Hs) IR 40,000 40,000
TZH R Metde oAl SaXM12 5(53) stE 40,000 50,000
geee 24 Hetgd = oAl SdSM1E 11(HS) stE 40,000 50,000
M 24 Hetdz oAl StsM1Z 13(2h3) st 40,000 50,000
LIEARE = = H Mete = oAl AIEM6E 3 (2S) RS 80,000 [ 110,000
H|L|7|OF = R Of 5= o4 Metd e oAl A|EM6ZE 19 (&3) sts 97,000 | 117,000
of+=o|ExH 2 Metde oAl A|8E32 30-7 (3H8) 1R 40,000 40,000
Of =i X| = | =H Mete = oAl AI§M6Z 5 (&8) RS 50,000 60,000
e S| == MEtHE oAl A|IHM6ZE 11 (&S) sts 60,000 80,000
AMORT Z & == Hetd = oAl AIEAM6Z 23 (5) sts 70,000 | 100,000
OF&IH| 0] = & =9 MEtHE oAl A|IHM6Z 15 (&8) stE 70,000 90,000
Mot ADH R Mete = oAl AIEAM6Z 15 (3Hs) RS 50,000 50,000
Hetx| 2 etdzd = H Mete = oAl A M6Z 13(3S) RS 60,000 70,000
HIQHH|X| 2t = & oE Mete = oAl AIEAM6Z 25(3HS) sts 87,000 | 105,000
StAH|ZFA D E 24 MEtd e oAl 3232 3(BFS) R 50,000 60,000
HRod o MEIHE oAl S22 48-7(385) ) 40,000 70,000
S HtheS 24 24 Metde oAl A|8E 32 30-5(3s) RS 59,000 69,000
MK= & R=] Hetd e o =AIAH A5 16(85) stE 50,000 70,000




29 Al AE| 24 HEtH e oAl A|HE 32 30-2(¢3) i 50,000 60,000
30 2oy o MEtHE oAl A|IHS3Z 30-3(8s) st 50,000 60,000
31 OfYHE 2 |TEtEE oAl A|EM5Z 26 (8F3) stE 40,000 50,000
32 Zetsto 2 |HEtdE oAl AIEM1E 56(34H3) stE 40,000 50,000
33 oM = & B |HEHEE oA AEE2Z 30(EHS) st 50,000 60,000
34 Mo E 2 Hetd = oAl 5742 5(8F3) st 40,000 50,000
35 Al o L= Metd = oAl 5722 8(5FS) ) 30,000 40,000
36 SHEf A= R Meted s oAl 2212 36(EES) 73 40,000 50,000
37 01;;}2; d o H Hetd = oAl YAZ 20(8H53) 553 70,000 10,000
38 o2 @ S| o H HEtd e o=A| B2 99(HEE) HEs 115,000 [ 210,000
39 i = x4 HAM Metez oAl YAR 33(HES) HES 60,000 [ 100,000
40 Tl AH =4 Hetde oAl BE=Z 40(8H53) HES 50,000 | 120,000
41 OfZ|Of = A& k=g~ Mtz oAl U2 185(H55) HE5s 190,000 | 210,000
42 HfCHE & o Hetd = oAl YAR 213(H5S) H5s 40,000 70,000
43 SEoIAsY o Metdz oA LEER 75(3™ &) +=8s 50,000 70,000
44 HSZH &= & o H Metde oAl LEEE 74(+788) T8& 70,000 [ 100,000
45 oTRdtADHE 2E HMEtHE oAl QELR 61-14(3HE) | £HE 60,000 [ 100,000
46 =g o Metdz oA LEE2 61-6(3H3) | ™3 40,000 60,000
47 2|t 2f 2 24 HEtEE oAl HEMS2Z 13(8Hs) stE 35,000 35,000
48 Stz o Hetde oAl ASMIR2Z 15(53) sts 35,000 40,000
49 S 24 Hetd e oAl ARSI R2Z 19(248) sts 40,000 75,000
50 GESLR= 2H MEtHE oAl ASHSR1ZE 8(H3) stE 45,000 50,000
51 AP o El o MEtHE oAl S22 32-8(8H5) sts 40,000 50,000
52 SHETT [=R= Hetd = oAl ASHMSR3ZE 8(8H3) sts 40,000 60,000
53 za(Ah=Z & 2H MEtHE oAl ASHSR3ZE 6(43) ik 40,000 55,000
54 ZEpXEE 2 |HEtHE oA ASHSHT1E 26(3HS) sts 40,000 40,000
55 S E LI ZteAH|Of 28 |[H2tdE oAl BtE22 30(8S) stE 50,000 70,000
56 oAz 28 |[HEtdE oAl s M1E 16-6(3S) stE 40,000 50,000
57 g 28 |[detdE oAl &E2E 15(8S) s 40,000 50,000
58 HE2g 2E | MEtHE Al AFSHSHEE 14-18s)| &3 25,000 25,000
59 & e 2 |[HEtEE oA o322 23(8S) i 40,000 50,000
60 6&9 2 [==] Mete e oAl d4t3E 21-103HEs) | 2HEE 50,000 60,000




FLHZH 2 Mete e oAl 32 21-6(2HES) oIS 50,000 60,000
AlA D E 24 MEtHE oAl QA 2133t S) IS 40,000 50,000
2|5 2H Mete s oAl QA3 24-7(2HES) otEE 35,000 35,000
=y 2| MEtEE oAl gA3E 243 E) oY E 50,000 60,000
org|zte 24 MEtHE oAl GABZE 2143t S) IS 50,000 60,000
Ko| R oIt 2H MEtd e oAl G4 24-8(31E ) ot 50,000 60,000
OEFE 2 HEter oAl QA3 21-5(2HES) CIPSES 50,000 60,000
O &~ = & 24 MEtHE oAl 2M6Z 43-4(M3S) MAS 50,000 60,000
7tete g 2 Metee oAl 2462 42-4MAS) MAS 40,000 50,000
MERY 2H Hetd e oAl R2H62Z 42-3(MES) MEAS 40,000 50,000
2| 22 | MEtEE oAl gihE 8-4(3HE E) CIPSES 45,000 50,000
CIOpE QI e == Matdz ojAl A3 2117318 s) | sEsE 50,000 60,000
YLrECQSH 24 MeteEd e oAl d4t3E 21-11(3HEs) | 2Es 60,000 80,000
KON H L= MEtE L oAl Y432 21-15HEE) | ES 60,000 80,000
U2 K| A2 2g Metd= oAl O ER3RZ 69(ETS) | 256 40,000 55,000
ALtz E =4 HEtdz oAl 22106, 65,75 (ETS) =& 70,000 80,000
ZANERY 2 Meted = oAl AM12 95-9(01 M &) St 50,000 40,000
YOHHH| =L ADH) E HEtd e oAl 252 58(2F3) T 75,000 95,000
A= oE HMetd = oAl 212 39-14(0M5) | OME 50,000 90,000
So| R ol & 2E Metd = oAl 22122 84(EFS) ZTE 50,000 60,000
S E= g | == MEtEE Of=A| {212 43-17(0IMS) | OAMS 40,000 50,000
MIZ & 24 Hetd e oA 223 76-1(B58) | 258 50,000 60,000
197tz L= Metdz ojAl 0212 43-21(0AM &) | dAMES 50,000 80,000
22 o MEtHE oAl {212 43-13(0IM3) | 58 50,000 60,000
AP E 2 Metde oAl 223 69(0IME) | oINS 40,000 60,000
GzH 2 MEtHE oAl O|21E 43-7(0{M5) AMS 40,000 55,000
KIZHE 2E | MEtEE oAl O Z2E2RE 33(EFs) | s 50,000 60,000
2528 2 |HEtHE Al OZ2E22RE 65(FS) | 25 50,000 60,000
=03 e (HEtEE oAl OfM12 95-8(0 M &) AMES 40,000 50,000
A= E gE | MEtEE oAl S4ET7E 11-1084H8)| Sits 60,000 | 120,000
St L= E 2E | MEtEE oAl S4ET7E 11-11(84ks)| Sits 40,000 60,000
Of| &~ 2 2 & 2 (NMEtEE oAl SAUHET7E 11208 48)| sits 50,000 80,000




93 xEAZE 28 |[Metd e oAl 46 11-18(848)| SitE 40,000 70,000
94 aghze| 2E | HEtHE oAl SLAEH8ZE 17(34S) Sits 40,000 50,000
95 |AHIOHIX[LAZH] 2™ |HMEtHE oAl S4HEH8E 17-15(84ts)| Sits 77,000 110,000
96 o= &8k 153 HM MEHE Of5Al Ol ABHE 202 35(F5E) | B3= 100,000 | 185,000
97 K| E=EIA HAM Hetd e oAl oA T2 1(F2s) eI 96,000 [ 150,000
98 L7t 2 M HM  |HEtEE oAl SHEE 66(5%tS) B 95,000 [ 139,000
99 Cto|ot= & 2 |HEtdE oA BEsH1E 6-3(1S) ns 40,000 60,000
100 |HESUAHAXESRA| Areses | MetdE oA Ol=MBXHE 191(B8s) | 3= 15,000 18,000
101 AEMHME HAM Hetd = oAl AR 2 2(53ts) 5ot 72,000 [ 150,000
102 2702 LR= HMetgd = oAl 1S5H1Z 5-5(13) ns 50,000 80,000
103 L7t 2 M HAM Hetd e oAl St = 66(523) Sy 95,000 139,000
104 SE-E| 2H MEtH e oAl REEH1Z 6-12(1S) ns 30,000 50,000
105 OfZ = H 24 Hetgd e oAl WESEH1Z 6-1(LS) ns 40,000 60,000
106 AHAESHRA | A2estex | MetHE OFA SER 2-2(BYS) Rk 25,000 25,000
107 S THE L S | MEtEE oAl Ol RE 135BeE) | BE 95,000 [ 150,000
108  |EICIHOIAAAESRA|HAES A MY E O4A| SEE 18(1AT) Nkt 20,000 22,000
109 ' Bk CHE HM  |HEtHE oA Ol EEE 159 (BYE)| B5YE 108,000 | 185,000
110 S mH Y (MEtEE oA SYE 72-21(5YS) Rk 40,000 70,000
111 Ast7|E2E |H2ESIRA|HEtHE Al BEH1ZE 5-41S) ns 15,000 20,000
112 Fez|zd 2 |HEtdE oAl B4 53(ES) (=0 45,000 60,000
113 EUDHE 2E | HEtHE oAl 2242 52(2ES) REUS 50,000 50,000
114 FHO| =& 2E | MEHE oAl B4 55(ES RAUE 50,000 60,000
115 Eand 28 et R oA 2532 121(2498) =HE 40,000 50,000
116 ot &l RE | HEtHE oAl 242 54(2ES) REYE 40,000 50,000
117 of+=F 0ol 2 |TEtEE oA RE2Z 12(2ET) AUST 40,000 50,000
118 g 2 et R O REI4Z 48(2ES) RAUS 40,000 50,000
119 Bl X o & o4l MEtd ke oAl EEH3Z 6-1(2€5) =53 40,000 50,000
120 2QEZRE 24 MEtde oAl 532 6-21(223) zHs 35,000 40,000
121 28Rd LR MEte e oAl ZE2Z 6-61(EE5) =53 40,000 50,000
122 Efand o MEtHE oAl 2532 121(EE ) THs 40,000 50,000
123 cezH 2 Metde oAl 532 141(E5S) =t 40,000 50,000
124 AELZH LR Hetdz oAl RE4Z 59(2E3) REUS 50,000 65,000




125 o|t@A =& 24 HEtd e oAl 2E4Z 61(2E ) QEE 60,000 70,000
126 2HH| = 24 MEtE e oAl R2027Z 12-4(2ES) REUS 60,000 70,000
127 IoHE| 2 & L= Metdz oAl 222 12-6(22 ) RAUE 40,000 50,000
128 ol FA=HE 24 HEtd e oAl S4HHT7ZE 8(84HE) SiE 40,000 60,000
129 Heand 24 Hetd e oAl SUEHT7ZE 13(848) Sits 50,000 70,000
130 CRER == HMEtd = oA 848 11-16(848) | 84F 35,000 40,000
131 Mo == &l L= Metde oAl 84E7Z 11-15(848) | S4t& 40,000 50,000
132 HF 2 2 Metde oAl 8A4E7ZH 11-24(84H8) | S4ts 40,000 60,000
133 REHE 28 |HEtdE oAl S4tH6Z 7(84HE) SRS 40,000 50,000
134 MEStY Y 2E | MEtEE oAl SAHEH6E 11-984ts) | Sits 30,000 40,000
135 H| L] A o & 2E | MEtEE oAl SAHH6E 17-7(84ts) | Sits 40,000 70,000
136 olgfzg gE | MEtEE oAl S4tH6E 11-15(84ts)| Sits 35,000 40,000




